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1. ________ is used to form a connection between two separate, but similar networks.
i.Bridge
ii. Gateway
iii. Router
iv. None of the given options


2. functionWriteList (heading,words) {//body of function } In above definition "WriteList" is the ______
i. Keyword
ii. Parameter
iii. Function identifier
iv. Function prototype


3. Which one can lead user to leave your website?
i. Simple design
ii. Information layout
iii. Poor navigation
iv. Adaptable design


4. Heuristics suggest that a program or module should be divided into a maximum of ________ parts and minimum of ________ parts.
i. 10,2
ii. 9,5
iii. 7,3
iv. 12,6
(agar kisi ko is k ans ka pata hai tu batay)


5. _______ breaks down the message to be sent over the internet into packets.
i. TCP
ii. SMTP
iii. IP
iv. None of the given options


6. ARPANET splits into two nets to keep military and non-military network sites separate, named.
i. ARPANET & MILNET
ii. MICRONET & MILNET
iii. PICONET & ARPANET
iv. None of the given options.


7. Which variables can make the logic of a Web page difficult to understand?
i. Global 
ii. Local
iii. Both Global and Local
iv. None of the given options


8. ________ network allows data to be sent directly from one computer to another.
i. Ring
ii. Bus 
iii. Star
iv. None of the given options


9. _________ is a network of computer that are lying within the same building or in a vicinity.
i. LAN 
ii. WAN
iii. LAN and WAN
iv. None of the given options


10. In JavaScript, arrays are implemented in the form of:
i. Array object 
ii. Array class
iii. Array variable
iv. None of the given options
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